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No opening or closing‘stocks at the end of each process. Other
details are as follows :

Particulars ProcessI ProcessII Process III Time : Three hours Maximum : 75 marks
Rs. Rs. - Rs. . SECTION A — (10 x 2 = 20 marks)
Direct materials 20,000 30,200 34,620 Answer any TEN questions.
Wages © 85,000 42,260 50,000 . 1.  What do you understand by direct cost?

Production overheads 15,000 20,000 25,000 G SILss Qsavey ardriions Lpl Selt a{,r_ﬁ]@f_@ "u_lrrgj 3

1000 units were issued to Process I at Rs. 50 each.

Process Normal Loss (%) Actual Production  Sale price of
) waste per unit

2. State the importance of cost accounting.

SiLssedmas samsdwaen PEHUSGHISMBE TS,

I 10 ‘ 920 units Rs. 30 per unit |
T 5 ’ 870 units Rs. 50 per unit , 3. What is goods received n'ote?« /
III 10 800 units - Rs. 60 per unit Qummer Qumith §( ereLg wimg) ? i
P ; ts. ”
ESPASS ESEsRELY Accounta 4.  What do you understand by ABC analysis?
@@ epusdo Quimer X, wpam Lgep@psmers sL&s Ceury. |
o atengl. - <Yybu wHpd @mE QELisr B ugpapulgib ABC uguumie) upi Belf oifleug wmg?
@dame. wHm efeuyrisamTaleT. T .
aflauyid uigapep I ugaperp IT Ligapenp I11 5. Explain - Time wages.
- - {1b. Cpré snell — aflarsss.
Cpig gpeviburgar 20,000 30,200 34,620 | : 3
! 6.  State the formula for Rowan plan under wage c¢aléulation.
58] 35,000 42,260 50,000 . o
2 pusd Cuplsea (5) 15000 20,000 25,000 el sambdQagpsnar Conodr S pApsTer GSBID TWEs.
1000 seo@sear  @m.. 50  aisbd PSD | Ligpampuied 7. What is meant by fixed overheads?
o | QegigsiiulLg). o L o L .
e . : . enaiwrer GuhGsea - eremuger QL gl ?
Le@®D @iy pl (%) 2Duss (Dw@sdn  Cepwe s Gurnmer 5 i e A
' aflpuener Hlene s ‘ ,
5. . : 8.  What is meant by overheads allotment?
I 10 920 s @ser @ 9@ a. 30 Cup@samae s pe&E0 aarpTed eretan?
IT 5 870 i T St @. 50 | |
HACGEE il SISOI0 9.  What is job costing?
II1 10 800 ie@ser @r oG 5. 60

uenfl semsdlwics ereTmmed eTetran ?
Csaneuwirar sanSGSMmeTS ST CQFwis. =
10. What is operations costing?

Dewdeafl L sselame samsdud aetmmd eremar?

8 60574/AY25A

Blom (cs) = Clost Aawu‘,,t::'y

(\
w
<



11.

12.

13.

14.

15.

From the following particulars, calculate EOQ.
Annual usage = 20,000 units ; buying cost per order = Rs. 10;
cost per unit Rs. 100; carrying cost 10% of cost of materials.
Qeraupd  efeughsenerd Qaran® Hssar Qararipsd 6Taneuds
SaTEE (HS.

anrh vwerur® = 20,000 @ser, QsTetipsed 2,emenT, RETnISHE
m. 10; @f sofdar isselea @m. 100. Qurmer Cailliy Qsaey
eworQurmeaiiar siLsss8d 10% <y @Lb.

Using Taylor's differential piece rate system, calculate the
earnings of the worker. Standard time = 20 minutes per unit
normal wage rate = Rs. 6.00 per hour

Worker X’ produces 30 units in a day of 8 hours.

Qruwieofer wruGL 2 HusHsECapp saflu weperw GeruHH!
Qgriflererfiar esrdlwid savsd(Hs. _

Brembssunc Cprb = iog qatnég 20 Hullmsd srgmyemr
&@d aistd = walsg . 6 X erenp Ggmberert 8 wenfl Gprb
QaraL (m prefld QFils 2 HLSEH = 30 BVGSET GLb.

SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questions.

What are the advantages of cost accounting?

SiLssame samEHweasn BaTannsar WTenal ?

Explain various functional classification of cost.
ILsselemaulen Qewd auamaliun gemer eleTsEs.

!
Calculate Redrder level, Minimum stock level, Maximum stock
level and Average stock level. Following details : Normal usage -
300 units per week ; Maximum usage - 450 units per week ;
Minimum usage - 150 units per week; Reorder period 4 - 6

weeks; Reorder quantity - 2400 units.
Geraumid gsaaudsailambg by dsraapsd e ;| GODHS .

sr& LY Sletey; Jflauls srsdmuy .emarrsq ; gyrefl sysdlmiy
SaTe] sSansHOE ; Uwenum( eumLTY  Quedurar Siere —
300 OGS (UMD QRMTNES) ASS e{m@u - 450 I@GseT
(eumyLb @e;o'rgw;@) @mmpg, DIETE| — 150 BlVGH&ET (U QETMmI&S)

o QsTETPHH STOW 4 — 6 uTIEEET ; LY CETETWPHL BlaTey — .

2400 JOGHEET HY&LD.
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23.

@@ Hpwbd 4 giapsmers Qaram(bHererg. apern TG &TRSSHETET
Geweser cu(mLOTY

arias ‘e 1,000; ugguriiy . 600; Cswwrand e 450;
ellerés ;. 100; Gupuriees . 1,500; erpdly srild@ . 500;
Qgmfemert srulS@ ep. 150; cflens ap. 900.

Ep&aaTL seubsmeaTD sansdld Gamdrs.
S DS ET

efleuyib A B C D
urlierey (g7 i) ! 75 55 45 25
Qorss amaed (ep.) : 4000 3000 2000 1000
Qgmilemeni crameanfisams : 12 8 6 4
erpdly whHiy (em.) : 12,000 9,000 6,000 3,000

QeucuCGeumi  gianpaEndsTar Ceweyls LiTbgefluiyl  ULiquiaea
UM

Mr. S is the owner of fleet of taxis and the following information
are available from the records :

Number of taxis = 10; Cost of each taxi Rs. 20,00,000; Salary of
manager Rs. 60,000 p.m.; Salary of Accountant Rs. 50,000 p.m.
Salary of cleaner Rs. 20,000 p.m. ; Salary of mechanic
Rs. 40,000 p.m.; Garage rent Rs. 60,000 p.m. Insurance premium
5% per annum. Annual tax Rs. 60,000 per taxi. Driver’s salary
Rs. 20,000 p.m. per taxi; Annual Repair Rs. 1,00,000 per taxi Total
life of a taxi is 2,00,000 kms. A taxi runs in all 3000 kms in a
month, of which 30% it runs empty. Petrol consumption is one litre
for 10 kms at Rs. 90 per litre. Oil and other expenses are
Rs. 500 per 100 km. Calculate the cost of running a taxi per km.

Am. S erarueuir wApeBEsaiear, 2 Meowrart. Siaurs q@a;aﬂcv
Epsam_ efleuriser Gafw aimdlemmen :

wépajpgisaier cramafsams = 10; m wape b <L ssalma
. 20,00,000; Cuererit wrgd gouerbd en. 60,000; samwsament LISE
sbuerd . 50,000; s&ssiiumissueT wrss sbuerd . 20,0005
smedl ugUTTUUGT LIEF sbuerd m. 40,000; Apiss oL wTg
arLens ¢5. 60,000; STUSLO& - slLamb. Lssellamauler 5%
anhe@; w@d afl g6 wHpaBEESE @ 60,000 GUEHT
g FhueaTd @@ wHpebssE . 20,000; anrh uWsIUTTiY
Qewa; whpeyss eamsEs . 1,00,000. @@  wlpabhedr
gl sten 2,00,000 HCor BlLfsdr. @m wépebs LISD
3,000 HGwr Blirsdr uwels@gnd. oHd  30%  srdwns
vweflsgh. 10 HACor  Blomed @@ Lt QuiGrrd
Qsoamdlpg. @@ Ot QuiCrrd ofew . 90. eram@am
whpid @sy Geawesdr 100 HCor Bl . 500 erans
sansALUUCLg. wipabs @6 ACor BLLr  @feshsre

S|LEseenaan s seamsdl (s,
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Epssam. gaaudselal®bg @nduild aupsmea pseld Qeamene
(LIFO) wpenpuier srs@r CuGr® swrifiéseyib.
gareufl 1 5. 1 aisd eumiidflwug 1000 oie@adr

10 ep. 1.05 g eummdlwgy 260 i@@Gser
20  aymdug 700 eGser
@'uUsurﬂ 4 e 1.15 &g aummdflug 400 siw@ser
21 . 1.25 oS50 aummdug 300 wiw@ser
wrrg 16 aprflng 620 sw@sdr
guge 12 anpmdlug 240 e @sdr
20 @5 1.10 &g eurmudluugy 500 Sje@ser
25  auprflug 380 seEsdr
22. A company has four departments. The following are the

expenses for a period of 3 months.

Rent Rs. 1,000; Repairs Rs. 600; Depreciation Rs. 450; Light
Rs. 100; Supervision Rs. 1,500, Insurance of plant Rs. 500;

Employee’s Insurance Rs. 150; Power Rs. 900.

The following data are also available :

Departments
Particulars A B C D
Area (sq.ft) : 75 55 45 25
Total wages in Rs. : 4000. 3000 2000 1000
No. of workers< 12 8 6 4

Value of plantin Rs.: 12,000 . 9,000 6,000 3,000

Write a statement showing the apportionment of cost to various

3

departments.
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16.

17.

Calculate the earnings of a worker under Halsey plan and

Rowan plan.

Standard time - 36 hours ; actual time taken - 30 hours.
Wages Rate per hour Rs. 10.

e dsmporafller sadusms apradGs ;_f,]|_|_u) whmib Grreumel
Sl i, sansd s
ﬁ]r’rmruﬁ]ésa;ﬂur_l_' Copw - 36 waflsdr; aOs56 Qsmam GE)ULb -
30 warflsdr. Cpy snel ez — qeh wanflléE . 10.

Calculate machine hour rate from the following :

Cost of machine Rs. 40,000; Estimated life 15 years of 1800
hours per year ; Estimated scrap value Rs. 2,500 ; Estimated
repairs for life Rs. 10,500 ; Power consumed per hour - 15 units
@ Re. 0.07 per unit ; Insurance 0.75% per month ; Consumable
stores Rs. 25 per month. The machine is installed in a
department whose monthly rent is Rs. 500 and this machine

occupies % of the area. Total monthly light is Rs. 40 for 10 lights
points, of which 3 relate to this machine. A supervisor with
monthly salary of Rs. 500 devotes ith of his time to this

machine.

Qaraumd eflerhsmes Qstan® @updy wefl Cor odssass
sasS(H&.

apdlisdlen oLsacllae 5. 40,000, ulstob — 15 e@mLb
@ 1800 varflser/geam®éE ; aerflu wHiy m. 2,500; Qorss
sTwsgld@n Erewiy Qsewe e 10,500; wWer msre) weaflés
15 sw@sd @ @m. 0.07/s0@ss. s1ulSE 0.75%/- wrssdvs
WoQunmer Qrewey ap. 25/0T8658 DS

TpHTD QHEGULsHer Qwrss aurias . 500/— LIssHDE. Qb

1
TSl Tid é{@@ﬁ?l_ﬁiﬁm = LUT&ESME LWeTUBSSIFDNG. WwrgssHnE
Wetr Qavafised deway 5. 40/ Qurssd 10 as@serss. Qbs
apdlsdnE 3 eflarg@ser GunLQuL@éﬁrmm. Qplwrert sbued
1

resAnE . 500. el i Crrsens @pg, Grpgqg,ﬂmesms
amﬂa;és’l,mrrrr
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18.

From the following particulars, prepaie a cost sheet indicating
cost per unit also :

Rs.

Raw materials : |
Opening stock 20,000
Purchases ‘ 1,50,000
Closing stock 10,000
Direct labour 60,000
Factory overheads 22,500
Office overheads 27,500

Selling and distribution overheads 20,000

Finished stock : Opening 500 units @ Rs, 11.20 per unit; Closing
1500 units @ current cost. Profit on sales 20%. Units
produced - 25,000.

Spssan feughisaldmps SLssalmal UL ipwd surfEsalb.
CoIb @ ADGHE WG L ssalmwamu sansd[Hs.

m:
ep e LIGLIm(BeT ©
QzrL&s @iy 20,000
Qarerpsed 1,50,000
o Yy 10,000
Crrigs el 60,000
gy CopEsweysar 22,500
Sigieses Gophblsweser 27,500

efpuaar whmid AEGCLTE GsweyseT 90,000
e bp ummaraser :
Qzm_&s @@Ly - 500 se@sdr et . 11.20 aisbd
@nd @muy — 1500 ie@ser sHGUTMSL 2L &6 aflanauile
eflhuenerufled Gamub - 20% '

2 Husd Qeiwtiul L o@ser — 25000 S Gsar.
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19.

20.

21.

The following data, relating t/o a factory for the year 2022 are
available.

Materials consumed Rs. 2,00,000; Direct wages Rs. 1,560,000;
Factory expenses Rs. 90,000; Administrative expenses
Rs. 88,000. Based on the above data, find the cost of a job to be
done in January 2022.
Materials required Rs. 20,000; wages for the job Rs. 15,000.
What price will be quoted for the job, if a profit at 20% on selling
price is required? ‘
SpssanL. efeuriser @@ QsmfpamL sHd 2022 b euwmL Ydrafl
MeurrseafadBhg Gsfw eumdEng.
uuaU@sHL  pperiQurmearsdr  ep.  2,00,000; Cprg  &adll
em. 1,50,000; QsmfpeaL s Qewayser ep. 90,000; flfeunss Caamaser
em. 88,000. Gupsar, ydrall efeagisefdmhg gareufl 2022 &
Qe Ceouarmgqw g Lafluder oL dseliame samBidy.
wotQurmar Gseal . 20,000, &l . 15,000. ellpuenar
apeoufcd 20% Qeorun &L Cauamhid erempred bt Lawiudler
Apuenar eflena erataneuns G)H&@LD ?

SECTION C — (8 x 10 = 30 marks)

Answer any THREE questions.

What are the various steps to be followed in the purchase of raw
materials in a large manufacturing concern?

en Quiu swurfiuys Qsrfiperameude apaiGurmdr CaTeTPSH
Qeiiw Cup@srearer Cauamgw LdGam Hawasr wremae?

Prepare a stores ledger from the following transactions under
LIFO method. , '
Jan. 1 Received 1000 units at Re. 1.00 per unit

10  Received 260 units at Re. 1.05 per unit
20 Issued 700 units
Feb.4 Received 400 units at Re. 1.15 per unit
21  Received 300 units at Rs. 1.25 per unit
Mar. 16  Issued 620 units
April 12 Issued 240 units-
20 Received 500 units at Rs. 1.10 per unit
25  Issued 380 units
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